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Eighth Semester B.E. Degree Examination, June/July 2023
Energy Englneering

J'inre : -l hrs Max. Mzirks: 100

.v-'ote: Artstuer en)1 FIVE .t'iil1 cluestiotrs, cltoosirtg ONE.futt questiott Ji"ont each module.

Mpdutql
a \\/hat is pLrlvariscd coal'/ What are the advantages and limitattons olpulvarised coal?

(10 N'la rks)
b. Brief]y explain the various steps involved in coal handling. (l0 t,tarris)
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OR
E,xplain the u,orl<ing principle of Benson boiler, with a neat sketch. (l0lvtarks)
Explain con.ur.)ou rnethocls r-rsed 1br cor-rtrolling super heat tentperature of the steam.

(10 Nlarlis)

N'I0dtrlq-2
Explarn the worl<ing principle of pyrarronrc'ter ancl pyrheliornctel lvitlr a neat shetch.

(10 Vlaltrsi
With the help of a neat sketch, explain the ertraction cf solar cnergy fi'om solar poncls.

110 Nlarlis)

OR
Explain the working of floating drum biogas plant with a neat sketch. (10 NIarks)
Explain the worhing oFupclraft gasifier with a neat sketch, (10 Nlarks)

Module-3
5 a. With a neat sl<etch. cxplair-r the workins of vapor ciorninated geothen-nal power plant.

(10 Marks)
b. With a neat sketch explain the hamessing tidal energy by the arrangcrxent of clouble basin

ticlal power plant. (10 Marks)

OR
6 a. What are the propertres olwind and crplain the ploblems associatecl li,rth the r,r,'ir.rcl pou.'er.

(10 Nlarl<s)
b. With a neat sketch, explain Darneus type n,ind machines and list the advantages arrcl

d isadvantages. (I0 Mrrks)

NIoclule-4
With a neat sketclt^ explairT mediur-r'r and low heacl por,ver plant (hydroelectric). (10 NIarks)
The rrean r.r-)on fbr l2 months at a site of river is tabulated belou,

a.

b

Month Discharge in millions ol
Cubic meterinrontl-r

Month Discharge in rrillions oi
Cubic lreterilronth

May
June
March
July
August
September

500
200

1 500
2500
3000
2400

October
Nover.nber
December
January
February
March

2000
l 500
1 s00
100i)
800
600
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(i) Draw hyclroglaph ancl flor,v duratiou cllrve lor thc aibove and fitld average morlthly

flow.
(ii) Determine the por,r,'er available at meatr flow of rvater if ar.'ailable head is 80 n-L at tl-re

site and overall elliciency o1'generation rs 809'u. Take 30 day's in a tlonth. (10Ntrar.l<s)

oR.

8 a. With a cliagram, explain Ope n cycle or Ciaude cycle OTEC systel.ll. (10 N'latl<s)

b. With a cliagram, explain Closed ot'Anderson OTEC s,vstellr (10 Ntart<s)

Moclule-5
9 a. Explail the principle of rarlioactive decay, half lif-e, fusion arld fissiotl in nuclear enelgy

(10 i\{arks)

b. Explain with neat sketch of col-tlponents olnuclear reactor. (10 Nlarlis)

10

()R

a. Explain the worl<ing plincrple of prcssurized water reactor with a neat shctch. (10 t"'IIrrlis)

b. Explain the working principle of homogcneous graphite reactor and gas cooled rcactor

(indirect circuit gas cooled rcactor) with a neat sketch. (i0 Nlarlis)
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Eighth Senrester B.E. Degree Examination, June/July 2A23

f ri bology
'lime: 3 hrs. N4ax. Marks: 100

Itlote: Answer iln! FII/E Jfutl cluestions, choosirtg OIYE Jilll question./rom ear:h rnodule.

Module-l
I :r. Detrne the telnt Tribology. Discuss industrial impoftance of Tribology. (10 N{arlis)

b. Briefly explain the rnechanism of lr"rbrication with the help of Stlibeck ctlrve. (10 N{arlis)

OR
2 tt. Dcfrne viscosity. State ancl cxplain Nevr,tor-r's law olviscosity, r.vith a neat sketch. (10 Marks)

b. With a ttcat sl<etch, explain any two typcs viscomcter. (10 Nltrks)
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I

5 a

6

7

b

ol tr-ictrorl' (10 N'hrks)

b. Derive 1n expression ibr the loacl carrying capacity of a platte slider bearing with fixed shoe.

110 Nlarks)
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Moclule-2
3 a. Explain Bou,clen and Tabor's adhe siou theory of tl'iction. (10 Marks)

b. Whatai'cthetheoricsoffiiction'/Explainanytwotheoriesandtesttrcasurelrellt. (l0Marhs)

OR
a. Detrne Wear. Briefly explarn different tvpes of Wear. (10 Nlatks)

b. i"lou,.clo yoLr classify mechanisnt olw,ear and explain a,ny one meastlremcltt of test method'/
(10 frtariis)



OR
I a. Denve an expression fbr the load canrying

hydrostatic step bcaring
b. A lrvdroslatic circular thrust be aring has the

9

IO

capacity ancl rate of

18IVTEE22

florv ot' oil throLrgh a

(10 NI*rlis)

Prr:ssurc rrt

(10 Nltrksi

( I0 \'la rl<ri)

(10 i\{arirst

(10 Nlrrlir)
(10 ilarks)

data:

2 of 2

)krsr<**

t.


